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Pedestal Distribution (average fADC count between 8 - 80 ns)
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Amplitude Distribution (no pedestal subtraction)
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Integral Distribution (no pedestal subtraction)
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Amplitude Distribution (with pedestal subtraction)
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Integral Distribution (with pedestal subtraction)

10°

102

10

I

—200

I'|.'|.'|.'|.'|.

.“_I- |
I

II i T

I

1

hintSubO
Entries 79723
Mean -0.8435
Std Dev 170.4
Underflow 0
Overflow 0
x2 [ ndf 70.85/ 39
Prob 0.001356
Constant  342.6 £48.0
Mean 114.1+ 43.6

Sigma___ 154.7 £ 20.5

.
i ﬂr = e
" ‘

I‘\IF

—— quadl
—— quad2

quad3
—— quad4

quadsum

400

600 800 1000

Integral [TADC]




800

600

400

200

—200

—-400

Amplitude (pedestal subtracted)
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